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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any five questions: 2x5=10
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a)

b)

c)

d)

Define Physiology.
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What do you mean by Exercise Physiology?
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What do you mean by Glycogen?
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Write four names of short bone in human body.
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What is systolic blood pressure?
ALCIS! TSI B2

[Turn over]

f)  What do you mean by Bradycardia?
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g) Define Respiration.
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2. Answer any two questions: 5%x2=10
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d)
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Define Mitochondria. Mention the importance
of exercise physiology in physical education.
24+3=5
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What do you mean by concentric contraction?
Mention the anatomical differences between
male and female. 2+3=5
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What do you mean by Blood presure? Draw a
labelled diagram of human heart. 2+3=5
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What is second wind? Describe the functions
of respiratory organs. 2+3=5
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3.  Answer any two questions: 10%x2=20
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What is Nucleolus? Discuss the importance of
Anatomy and Physiology in Physical Education.
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Define involuntary muscles. Discuss about the
effect of training on muscular system.
2+8=10
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What do you mean by Athletic heart? Discuss
about the training effect on circulatory system.
2+8=10
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What is gaseous exchange? Discuss about the

training effect on respiratory system.
2+8=10
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